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൰ M1 for  ൫ଶൈହଶൈଶ൯ [= ൫ଵ଴ସ ൯ሿ or 2 × 5 – 1 (= 9) or 2 × 2 + 7 (= 11) 
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30 Vector drawn M1 for 5 ± 2 × 3 (= ±1) RU 2 ± 2 × ± 1 (= 4) seen as a calculation 
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May be in a column vector 

Condone missing arrows 
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 drawn with arrow, where b � 4 aQd a � ± 1 

A1 cao For this mark the drawn vector must include an 
arrow showing direction. 
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May be seen in two separate calculations 
eg 2×3 + –3×5 and 2×4 + –3×–2 
Condone incorrect notation if method is 
clear for this mark only 
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 where a, b are integer values. 

Need not be shown in brackets at this 
stage 
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(b) correct vector 
drawn 

C1 for a correct vector drawn from point P Need not be labelled but do not award 
if there is any ambiguity. 
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